(p+bar{p})/(pi" + pi)

Ratio to LHCB

o
&

O
N

0.3

0.2

0.1

7000 GeV pp Soft QCD
L L L L L L L L L B B I
B (p+p)/(TT+17) Vs |y| (pT > 1.2 GeV) 7
— m LHCB ]
[~ --G-- Herwig++ 2.7.1 default ]
[ --3-- Herwig 7.2.0 default N
| —¥— Herwig 7.2.0 softTune |
| ___,_—-—"(19 _________________ {; _
B el é/g\i |
- BT T R =T
I PR N T RO U (NPT SN T ANPUT NN NN AU N SN S NN SR SR ST NP B
e L
- Q--------nmmmmmee- 9] _

I T S SR T I T S SR T I T S SR T I T S SR T l
2.5 3 3.5 4 4.5

Rivet 3.1.0, = 100k events

mcplots.cern.ch [arXiv:1306.3436]

N



	Contents
	Page 1


